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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

o —1 .
100 |
1
\ i
80 :
—0— setVI _ETcl :
60 4+ —®— setVI_fgRec }
—@—  setVI_WN I
40 - —— s|SetVI .
20
0 5 10 15 20




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-1_0
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G3-1

BjiE) | EEBEETIC (FD) | EB=E (BAH/HK) | XK R

07:05 53 30.0 |Z=| {Ri%e07:05 Bz (KREAEZEBE)
09:20 53 30.0 PA| {Ri%@09:20 Bz (RAMEEE)
23t| 106.0 (2:%) 60.0 3RSHKEC: 2240.0, PH: 6.0

RERERIPH (10.29) 5i8%EPH (6.35) fREK K, 1HHRE
FERERIPH (10.29) 5FPH (6.5) REKK, FHE
FERZEBEC (1914.0) 5FMEC (2547.0) RER K, BHE
LORGEBIPH (10.4) 5i1&8EE (6.2) RERKK, BRE.
LORGEBIPH (10.4) S5REIEN (6.0) RERK, HRE.
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G3-1_0, Day=10 (2025-05-22)
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G3-1

Bfig) | JEBATK (7)) | ERE (A | KR R

06:50 53 30.0 PH| {Ri%e06:50 Bzh (KAEESE)
07:40 53 30.0 |Z=| {RiB007:40 Bzh (GRAERSE)
10:45 53 30.0 |Z=| {Ri%e10:45 Bz (REAZBE)
12:45 53 30.0 (Z=| {Rige12:45 Bz (REAEBSE)
14:35 53 30.0 = RiB014:35 Bz (REAEESE)
Bit| 265.0 (5%) 150. 0 3ZHKEC: 2470.0, PH: 6.1

EREBRIER LR X (0.65 vs 0.58)), AIREE ZREIENREEIRK

ZRIASERRIERES0. 0 ml.

large discrepency for begining water status (50:177.0), set to 50 ml.

FERZEBPH (10.25) Ei&%EPH (6.42) RERK, BHTE
FEXREIPH (10.25) S5FMPH (6.5) REKK, BT

FEREIEC (2184.0) 5FMEC (2750.0) REK K, HHRE
LRGEBRIEC (2020.0) 51REFEY (2470.0) REK K, BEE.

EREBPH (10.2) 5igEME (6.2) RERK, FEE.

LRGERPH (10.2) SiRBIE (6.1) RERK, BRE.




G3-1_0, Day=9 (2025-05-21)
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G3-1

BfiE) | GEBATK (7)) | EME (EH/H) | XK R

08:30 54 30.0 BS| {Ri%008:30 B (RFAMERER)
09:45 54 30.0 BE| 1Ri&e09:45 Bz (REAERES)
12:00 54 30.0 B {Rige12:00 Bzh (GRE{ERSE)
21| 162.0 (3%) 90.0 EWHKEC: 2500.0, PH: 6.2

EREB AT R IRAE R I (80 vs 54.0))

PRIA L PRIERL45.0 ml.

large discrepency for begining water status (28:183.0), set to 28 ml.
RERSERIPH (10.34) 5i&EPH (6.5 REKK, BT

REXJEBIPH (10.34) 5FMPH (6.5) RERK, FHRE

REXREBIEC (2533.0) S5FMEC (3047.0) RER K, FHRE

LERGEBPH (10.3) H5igE(E (6.5) REKK, BHRE.

ERGEBIPH (10.3) S5iREEY (6.2) REKRK, BHRE.




G3-1_0, Day=8 (2025-05-20)
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